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[Question ID = 1907][Question Description = Q01_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7625]
2 [Option ID = 7626]
. 3 [Option ID = 7627)
. 4 [Opticn ID = 7628]
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[Question ID = 1908][Question Description = Q02_5Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7629]

2. 2 [Option ID = 7630]

3. 3 [Option ID = 7631]

4, 4 [Option ID = 7632]
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[Question ID = 1909][Question Description = Q03_5Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7633]
| 2. 2 [Option ID = 7634]
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| 3. 3[Option ID = 7635]
4. 4 [Option ID = 7636]
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[Question ID = 1910][Question Description = Q04_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7637]
2. 2 [Option ID = 7638]
3. 3 [Option ID = 7639]
4. 4 [Option ID = 7640]
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[Question ID = 1911][Question Description = Q05_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7641]
2. 2 [Option ID = 7642]
3. 3 [Option ID = 7643]
4. 4 [Option ID = 7644]
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[Question ID = 1912][Question Description = Q06_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7645]
2 [Option ID = 7646]
3 [Option ID = 7647]
4 [Option 1D = 7648]
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[Question ID = 1913][Question Description = Q07 _Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7649]
2. 2 [Option ID = 7650]
3. 3 [Option ID = 7651]
4. 4 [Option ID = 7652]
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[Question ID = 1914][Question Description = Q08_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7653]
2. 2 [Option ID = 7654]
3. 3 [Option ID = 7655]
4. 4 [Option ID = 7656)
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[Question ID = 1915][Question Description = Q09_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7657]
2. 2 [Option ID = 7658]
3. 3 [Option ID = 7659]
4. 4 [Option ID = 7660]
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[Question ID = 1916][Question Description = Q10_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7661]
2 [Option ID = 7662]
3 [Option ID = 7663]
4 [Option ID = 7664]
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[Question ID = 1917][Question Description = Q11_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7665]
2. 2 [Option ID = 7666
3. 3 [Option ID = 7667
4. 4 [Option ID = 7668]
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[Question ID = 1918][Question Description = Q12_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7669]
2. 2 [Option ID = 7670
3. 3 [Option ID = 7671]
4. 4 [Option ID = 7672)
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[Question ID = 1919][Question Description = Q13_5indhi_SHAAN_NOV21]

1. 1 [Option ID = 7673]
2. 2 [Option ID = 7674)]
3. 3 [Option ID = 7675]
4. 4 [Option ID = 7676]
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[Question ID = 1920][Question Description = Q14_5indhi_SHAAN_NOV21]

1, 1 [Option ID = 7677]
2. 2 [Option ID = 7678
3. 3 [Option ID = 7679]
4. 4 [Option ID = 7680]
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[Question ID = 1921][Question Description = Q15_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7681]
2. 2 [Option ID = 7682]
3. 3 [Option ID = 7683]
4, 4 [Option ID = 7684]
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[Question ID = 1922][Question Description = Q16_5indhi_SHAAN_NOV21]
1. 1 [Option ID = 7685]
2. 2 [Option ID = 7686]
3. 3 [Option ID = 7687]
4, 4 [Option ID = 7688]
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[Question ID = 1923][Question Description = Q17_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7689
2. 2 [Optien ID = 7690]
3. 3 [Optien ID = 7691]
4. 4 [Option ID = 7692]
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[Question ID = 1924][Question Description = Q18_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7693]

2. 2 [Option ID = 7694]
3. 3 [Option ID = 7695]
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| 4. 4 [Option ID = 7696]
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[Question ID = 1925][Question Description = Q19_Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7697]
2. 2 [Optien ID = 7698]
3. 3 [Optien ID = 7699]
4. 4 [Option ID = 7700]
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[Question ID = 1926][Question Description = Q20_5Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7701]
2. 2 [Option ID = 7702]
3. 3 [Option ID = 7703]
4. 4 [Option ID = 7704]
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[Question ID = 1927][Question Description = Q21_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7705]
2. 2 [Option ID = 7706]
3. 3 [Option ID = 7707]
4. 4 [Option ID = 7708]
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[Question ID = 1928][Question Description = Q22_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7709)
2. 2 [Option ID = 7710]
3, 3 [Option ID = 7711]
4, 4 [Option ID = ¥712]
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[Question ID = 1929][Question Description = Q23_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7713]
2 [Option ID = 7714]
3 [Option ID = 7715]
4 [Option ID = 7716]
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[Question ID = 1930][Question Description = Q24_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7717

2. 2 [Option ID = 7718]

3. 3 [Option ID = 7719]

4, 4 [Option ID = 7720]
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[Question ID = 1931][Question Description = Q25_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7721]
2 [Option ID = 7722)
. 3 [Option ID = 7723)
. 4 [Opticn ID = 7724]
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[Question ID = 1932][Question Description = Q26_Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7725]
2. 2 [Option ID = 7726]
3. 3 [Option ID = 7727]
4. 4 [Option ID = 7728]
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[Question ID = 1933][Question Description = Q27_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7729]
. 2 [Option ID = 7730]

1
2
3. 3 [Option ID = 7731]
4. 4 [Option ID = 7732]
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[Question ID = 1934][Question Description = Q28_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7733]
2. 2 [Option ID = 7734]
3. 3 [Option ID = 7735]
4. 4 [Option ID = 7736]
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[Question ID = 1935][Question Description = Q29_5indhi_SHAAN_NOV21]
1. 1 [Option ID = 7737]
2. 2 [Option ID = 7738)
3. 3 [Option ID = 7739]
4. 4 [Option ID = 7740]
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[Question ID = 1936][Question Description = Q30_5Sindhi_SHAAN_NOV21]
1 [Option ID = 7741]

2. 2 [Option ID = 7742]

3. 3 [Option ID = 7743]

4. 4 [Option ID = 7744)
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[Question ID = 1937][Question Description = Q31_5Sindhi_SHAAN_NOV21]
1 [Option ID = 7745]
2. 2 [Option ID = 7746]
3. 3 [Option ID = 7747]
4. 4 [Option ID = 7748)
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[Question ID = 1938][Question Description = Q32_5indhi_SHAAN_NOV21]
1. 1 [Option ID = 7749%]
2. 2 [Option ID = 7750]
3. 3 [Option ID = 7751]
4. 4 [Option ID = 7752]

33) ~ § s W ; ;
: u.c:! {_}ﬁ.ﬁm QJuiJ.JLq ﬁ;a 2}_94}

8 (2) 16 (1)

12 (4) 24 (3)

e # mmne, fifey anfafy
1 16 @ 8
3) 24 @ 12

[Question ID = 1939][Question Description = Q33_5Sindhi_SHAAN_NOV21]
1 [Option ID = 7753]

2. 2 [Option ID = 7754)]

3. 3 [Option ID = 7755]

4. 4 [Option ID = 7756]
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[Question ID = 1940][Question Description = Q34_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7757]
2. 2 [Option ID = 7758]
3. 3 [Option ID = 7759]
4. 4 [Option ID = 7760]
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[Question ID = 1941][Question Description = Q35_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7761]
2 [Option ID = 7762]
3 [Option ID = 7763]
. 4 [Option ID = 7764]
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[Question ID = 1942][Question Description = Q36_Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7765]
2. 2 [Optien ID = 7766]
3. 3 [Option ID = 7767]
4. 4 [Option ID = 7768]
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[Question ID = 1943][Question Description = Q37_5Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7769]
2. 2 [Option ID = 7770]
3. 3 [Option ID = 7771]
4. 4 [Option ID = 7772)
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[Question ID = 1944][Question Description = Q38_5Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7773]
2. 2 [Option ID = 7774]
3. 3 [Option ID = 7775]
4. 4 [Option ID = 7776]
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[Question ID = 1945][Question Description = Q39_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7777)
2. 2 [Option ID = 7778]
3. 3 [Option ID = 7779]
4. 4 [Option ID = 7780]

40) T b -
G =, 190 (2) AT R vLE: (1)
A5 bl s @ SLEs O

fmeiTEr T FEiisT & S@s A -
(1)  THER WEd (2) T
(8) FUMIE (4)  faze damm R

[Question ID = 1946][Question Description = Q40_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7781]
2. 2 [Option ID = 7782]
3. 3 [Option ID = 7783]
4, 4 [Option ID = 7784]
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Choose the correct answer from the options given below -
(C), (D) and (E) Only (2) (A), (B) and (C) Only (1)
(D), (B)and (A) Ounly (4 (B). (C) and (D) Ounly (3}
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(1)
(3)

(), (B) and (C) Only @  (C), (D) and (E) Only
(B), (C) and (D) Only (4 (D), (B) and (&) Only

[Question ID = 1947][Question Description = Q41_Sindhi_SHAAN_NOV21]

1
2
3.
4

42)

. 1 [Option ID = 7785]
. 2 [Option ID = 7786
3 [Option ID = 7787]
. 4 [Option ID = 7788
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Choose the correct answer from the options given below -

(C) and (D) Only (2) (A) and (B) Only (1)
(D) and (A} Only (4 (B) and (C) Only  (3)

(&) T T

B)  FA g

(C) T g AT

D) =g e

Choose the correct answer from the options given below :

(1)  (A) and (B) Only (2}  (C) and (D) Only
(3) (B) and (C) Only (4) (D) and (A) Only

[Question ID = 1948][Question Description = Q42_5indhi_SHAAN_NOV21]
1. 1 [Option ID = 7789%]
2. 2 [Option ID = 7790]
3. 3 [Option ID = 7791]
4. 4 [Option ID = 7792]
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Choose the correct answer from the options given below :

(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)
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(C) ==
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Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B) and (C) Only
(3 (C) and (D) Only 4) (D) and (A) Only

[Question ID = 1949][Question Description = Q43_Sindhi_SHAAN_NOV21]

1
2
3.
4

. 1 [Option ID = 7793]
. 2 [Option ID = 7794]
3 [Option ID = 7795]
. 4 [Option ID = 7796
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Choose the correct answer from the options given below -
(B) and (C) Only 2) (A) and (B) Only (1)
(D) and (A) Only (4) (E) and (D) Only (3)
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A P
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(E)  wxiierg
Choose the correct answer from the options given below -
(1)  (A) and (B) Only (2)  (B) and (C) Only
(3)  (E)and (D) Only 4) (D) and(A) Only

[Question ID = 1950][Question Description = Q44_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7797]
2. 2 [Option ID = 7798]
3. 3 [Option ID = 7799]
4, 4 [Option ID = 7800]

) Pl IS pld ol s Ll Jus =l
T @b (P (S W

= o= B

sy aold (©

~oly 2 LS-‘-wa D)

Choose the correct answer from the options given below :
(A) and (B) Only (2) (B) and (C) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)

1. ZaI AN I 9 Fha wmE e anigfy -
(a) T o S A

(B) 7 UsH

(C) g = faom

(D)  fasdt g

Choose the correct answer from the options given below :

(1)  (B)and (C) Only (2)  (A) and (B) Only
(3)  (C) and (D) Only (4) (D) and (A) Only

[Question ID = 1951][Question Description = Q45_5indhi_SHAAN_NOV21]
1. 1 [Optien ID = 7801]
2. 2 [Option ID = 7802]
3. 3 [Option ID = 7803]
4, 4 [Option ID = 7804]

46 i ; . i
: 1 R o O O3S (Sim

S Al @
S mhs (B
sl ©

Loisl @

Choose the correct answer from the options given below :
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(B) and (C) Only (A) and (B) Only (1)
(D) and (A) Only (C) and (D) Only (3)

faeft smrrefing wiesh fafs sl & snfzl

(&) ST I

(B) mANE

© fa=r

D) =g

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B) and (C) Only

(3)  (C) and (D) Only (¢) (D)and (&) Only

[Question ID = 1952][Question Description = Q46_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7805]
2 [Option ID = 7806]
3 [Option ID = 7807]
4 [Option 1D = 7808]

B R L ]

47 = + 4 . . % .
) Pl 010 5 05 "Loled] o vl G’ QS e &J@ﬁf&b
wg&ig_gmﬁs (A)
Sl gl ORaly B
u‘l‘“

Ll G S S (D)

[

Choose the correct answer from the options given below :

(B) and (C) Only ()
(D) and (A) Only (4

(A) and (B) Only (1)
(C)and D)Only (3

M. grEtr Sachisl T o el mifgea < s wteeh fafh wrf s o -

(A)  fooett fefi s

(B)  TewH et s

€ foy mom, 1 oot

D) T T g, S

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B) and (C) Only
(3)  (C) and D) Only 4 (D) and (&) Only

[Question ID = 1953][Question Description = Q47_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7809]
2. 2 [Option ID = 7810]
3. 3 [Option ID = 7811]
4. 4 [Option ID = 7812]
48) ~
AL USE ygiin. s HESS
Sl O @)
A ®
Slls olzgd (©
e et D)
Choose the correct answer from the options given below :
(C) and (D) Only (2) (A) and (B) Only (1)
(D)and (A) Only (4 (B) and (C) Only  (3)
wfeg g fadt meom anfefa e
(&) we A
(B) 9w wH

(C) =y I
D) wEw R
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Choose the correct answer from the options given below :

(1)
(3)

(A) and (B) Only (2) (C) and (D) Only
(B) and (C) Only 4 (D) and (A) Only

[Question ID = 1954][Question Description = Q48_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7813]
2. 2 [Option ID = 7814)
3. 3 [Option ID = 7815]
4. 4 [Opticn ID = 7816]

49)

oA Lay SS3L . 1505 s ey a3l (gl

ui-é yhd o i«f:-iﬂ » @

Seb,l o ®

e WL sk (©

SES S g @)

Choose the correct answer from the options given below -

(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)

faefi el fegeist s FiE=t 3 swaag e iy

(A) 1. rEieR el

(B) . 3. Herhoft

(C) Tl wrfiren fasn

(D) e el

Choose the correct answer from the options given below :

(1) (A) and (B) Only (2) (B} and (C) Only
3  (C) and (D) Oxnly 4)  (D)and(A) Only

[Question ID = 1955][Question Description = Q49_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7817]
2. 2 [Option ID = 7818]
3. 3 [Option ID = 7819]
4. 4 [Option ID = 7820]

50 o
’ b sl 3 g
e ydd e @
&l e ®
M Gy ©
P S0 gy D)
Choose the correct answer from the options given helow :
(B) and (C) Only (2) (A) and (D) Only (1)
(D) and (B) Only (4 (C) and (A4) Only ()
Higg! 7 AreiHeH e ?
(B)  =ima geft
(© W
D)y TG T S
Choose the correct answer from the options given below -
(1) (A and (D) Only @  (B)and (C) Only
3 (C) and (A) Only (4) (D} and (B) Only

[Question ID = 1956][Question Description = Q50_Sindhi_SHAAN_NOV21]

oW 2 =

. 1 [Option ID = 7821]

2 [Option ID = 7822]
3 [Option ID = 7823]
]

. 4 [Option ID = 7824
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. 51)

PAlLey G4 2 500wt g a5 b ) il g oo 2]

£ H A S @
£ Il S @
S St ©
LT SR

Choose the correct answer from the options given below :

(A) and (C) Only (2 (B)and (D) Only ()
(D) and (A) Only (4 (C) and (D) Only (3

. Hf. fi. 78, U, 1 BRI g WeH TG 18 9 g el ?
(A) 21 TEE g

(B) 2. gd<d gzami

(C) 4 e Migerofi

O & FEE Ao

Choose the correct answer from the options given below :

(1) (B) and (D) Only (@) (A)and (C) Only
(3  (C) and (D) Only 49 (D) and(A) Only

[Question ID = 1957][Question Description = Q51_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7825]
2. 2 [Option ID = 7826]
3. 3 [Option ID = 7827]
4, 4 [Option ID = 7828]

52)

Sleise (e S0 @
S Jedp g iy B)
o A e SN e (O
" P8 D ity D)

Choose the correct answer from the options given below :

(A) and (B) Only (2 (B) and (D) Only (1)
(D) and (A) Only  (4) (C)and M) Only  (3)

iz o G aefivem ag smen 3 anfge @ e snfgfay
(A) =1 Fidee Staam

(B) . HEETS e

(C) Wi 1. TR e

(D) . R g=ami

Choose the correct answer from the options given below :

(L (B) and (D) Only 2) (A) and (B) Only
3  (C) and (D) Only 4) (D) and (A) Only

[Question ID = 1958][Question Description = Q52_5indhi_SHAAN_NOV21]

1. 1 [Option ID = 7829]
2. 2 [Option ID = 7830]
3. 3 [Option ID = 7831]
4. 4 [Option ID = 7832]

53)

1210 OIS Qo 25l 233 s
LIZ i @

B13 dy G5 B

13 csls @_g...c: (C)

HIS sl @3ls 1S @)

{ l.svj L,QLJ (E)

Choose the correct answer from the options given below :

B mand (0% Mianlas i FAY mand B Miaala- i
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ey ey e we ey w — i e m ey e -

(C) and (D) Only (4) (C) and (E) Only ft;»i

forerd 4R welior § g ga:
A  Eig g

(B)  dvhi wEE u@

(©  FH e =

(D)  FHEEl W g/

(E) ¥ =i g

Choose the correct answer from the options given below -
(1) (A and (B) Only 2)  (B) and (C) Only
(3)  (C) and (E) Only 4  (€) and D) Only

[Question ID = 1959][Question Description = Q53_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7833]
2 [Option ID = 7834]
3 [Option ID = 7835]
. 4 [Optien ID = 7836]

T e

54 T ool A
) Tl olplle e eSS S

S @

(5 (B)
sk ©
drier WA

O, s (B)

Choose the correct answer from the options given below :

(B). (C) and (D) Only  (2) (A), B)and (C) Only (1)
(B). (C) and (E) Only (4 (C). (D) and (E) Only  (3)

farftar o =wigfegly aifemfr o s anfaa v

(a) @i

B) e

©  wRE

D) =

(E) woFa

-

Choose the correct answer from the options given below :

(1)  (A). (B) and (C) Only @)  (B). (C) and (D) Only

(3) (C), (D) and (E) Only (4) (B), (C) and (E) Only

[Question ID = 1960][Question Description = Q54_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7837]
2. 2 [Option ID = 7838]
3. 3 [Option ID = 7839]
4. 4 [Option ID = 7840]
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55 T REY L : i
) @1@Mugkuu}js&lji$y;1(§J@

#hdes @

O 54 s B

sy e (©)

Cndd g gav9y D)

da 3 p o (E)

Choose the correct answer from the options given below -

(B) and (C) Only 2) (A) and (B) Only (1)

(D) and (4) Only (4 (E) and (D) Only  (3)

it arga 3 wawEed 2R T Ifewa 2w B anfefa

(&)  AEE-Tn
(B) TEE-TE
© ER-um

D) Tt
(B) wA-%eig

Choose the correct answer from the options given below :

(1)  (A) and (B) Only (2  (B)and (C) Only
3 (E) and (D) Only 4) (D) and (A) Only

[Question ID = 1961][Question Description = Q55_Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7841]
2. 2 [Optien ID = 7842]
3. 3 [Option ID = 7843]
4. 4 [Option ID = 7844]

56) - ) "
— S s m ke penlen OB Sy
MLQ.:.@E.LS‘}L‘%M_L;J..‘; (A)
S5y e ®
S L=yld  ©
Choose the most appropriate answer from the option; given below :
(A) and (B) Only (2) (D) and (A) Only (1)
(B) and (D) Only (4) (B) and (C) Only (3)
foreer? i e s 3 i et S B R -
(A)  wEtERRi S faumaa
B  Fa S
(C)  afif= wmzhh

(D)  THE AEIE
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Choose the most appropriate answer from the options given below -

(1) (D) and (A) Only (2) (A) and (B) Only
(3) (B} and (C) Only (4) (B) and (D) Only

[Question ID = 1962][Question Description = Q56_Sindhi_SHAAN_NOV21]

oW =

. 1 [Option ID = 7845]

2 [Option ID = 7846]
3 [Option ID = 7847]
]

. 4 [Option ID = 7848

57)

P O80T U son 5 O (o208 o 2O

A 2 @l s gl @

e Al B

= ij ey g2 ©

SFke D)

Choose the most appropriate answer from the options given below :
(C) and (B) Only 2 (B) and (D) Only ey
(A) and (C) Only  (4) (D) and (A) Only  (3)

T A F 3 T e s s -
(&) ot Y FuR N ufeE

(B) T T

(C) ¥ FofteR =i mifeg

(D) =

Choose the most appropriate answer from the options given below -
(1)  (B) and (D) Only (@)  (C) and (B) Only
(3) (D) and (A) Only (4) (A) and (C) Only

[Question ID = 1963][Question Description = Q57_5Sindhi_SHAAN_NOV21]

1
2
3
4

5

. 1 [Option ID = 784%]
. 2 [Option ID = 7850]
. 3 [Option ID = 7851]
. 4 [Option ID = 7852]

113

8) . N > ) .
5D e 5N e Nl il ae Sl o0 g dae o 1843

Sog ph S35 @
Lils 93l (B
Al g s3le (O
Choose the most appropriate answer from the options given below :
{A) and (D) Only (2) (A) and (B) Only (1)
(C)and D) Only (4 B)and (C}Only  (3)
T 1843 § firg d fafy 72 ganfier 9 g 2fs sisher 7§ foaw 3@ 41 -
(A) T et
(B) Ty gRrE
(C) Y foamr
(D) &d FawHE
Choose the most appropriate answer from the options given below :
(1) (A) and (B) Only (2) (A) and (D) Only
(3)  (B)and (C) Only 4) (C) and (D) Only

[Question ID = 1964][Question Description = Q58_5indhi_SHAAN_NOV21]

1
2
3
4

. 1 [Option ID = 7853]
. 2 [Option ID = 7854)]
. 3 [Option ID = 7855]
. 4 [Option ID = 7856)
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59) T weu - ;

2 Slyle @

u*“}-‘i omsse @
J o ga‘*j.wi ©)

Slde =08 5L D)
Choose the most appropriate answer from the options given below :
(B) and (C) Only (2) (C) and (A) Only (1)
(C) and (D) Only (4 (@A) and (B) Only  (3)

e 0F T gl S IEE I 7
(A)  IET aEd

B) TR
(C) T=TH 3

(D) e wif fag

Choose the most appropriate answer from the options given below :

(1) (C) and (A) Only 2) (B) and (C) Only
(3) (A) and (B) Only @) (C) and (D) Only

[Question ID = 1965][Question Description = Q59_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7857]
2. 2 [Option ID = 7858]
3. 3 [Option ID = 7859]
4. 4 [Option ID = 7860)

60) T ; .
—op Opbay Vs s L2l (695
Opbes S JdL @
= oo B
e U_}.Lu (C)
s 5l )
Choose the most appropriate answer from the options given below :
(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only 4) (C) and (D) Only (3)

EERENECTA Gl s R R | IF 4

(Ad) T Faar

(B)  FH T

(C) AEL AT

(D)  SATHTN

Choose the most appropriate answer from the options given below :

(1)  (A) and (B) Only (2)  (B) and (C) Only
(3)  (C) and (D) Only 4) (D) and(A) Only

[Question ID = 1966][Question Description = Q60_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7861]
2. 2 [Option ID = 7862]
3. 3 [Option ID = 7863]
4. 4 [Option ID = 7864]

61) i _ | “
ol ey Sls as g i

frﬁ e bas QLS @

" C— gt C""" ®

& s o ek ©
05828 & O3S Lo (Si4> @)

[ ESPRP s, O, UL Ut SR PV SN c; SRS L . LSS, D) (S ——
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s AT mrm s g T grar et Frmr ot TR e e T m g Te T gt T e

(A) and (C) Only (2) (A) and (B) Only
(B)and (C) Only (4 (A) and (D) Only
faediar & Hifa Tt IR Sefera anfet

(A)  TOE T S A IE
(B) wIA M TG

(C) IR #E e

(D)  wfedh =fs afefeg 2 I

Choose the most appropriate answer from the options given below -

§h) (A) and (B) Only 2) (A) and (C) Only
(3) (A and (D) Only (4)  (B)and (C) Only

[Question ID = 1967][Question Description = Q61_Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7865]
2. 2 [Optien ID = 7866]
3. 3 [Optien ID = 7867]
4. 4 [Option ID = 7868]

(1
(3)

62) - i} o L
S @
=Ly ®

=SS e ©
=Kot @
Choose the most appropriate answer from the options given below :
(B) and (C) Only (2) (A) and (B) Only (1)
(D) and (A) Only (4) (C) and (D) Only (3)

Figel Bl wemiy fafy w3 @R § oy Tife e -

(A) T g
(B) WHNE WIg
(C) Wi g

(D) AT qTg
Choose the most appropriate answer from the options given below :

(1)  (A) and (B) Only @)  (B)and (C) Only
(3)  (C) and (D) Only (4 (D) and(A) Only

[Question ID = 1968][Question Description = Q62_Sindhi_SHAAN_NOV21]
1. 1 [Optien ID = 7869]
2. 2 [Optien ID = 7870]
3. 3 [Optien ID = 7871]
4. 4 [Option ID = 7872]

63) =y = :
3923 s (A)
) g 52 il (B)
6.@:, 3 (C)
hldes! @)
Choose the most appropriate answer from the options given below :
(C) and (D) Only (2) (B) and (C) Only (1)
(A) and (B) Only 4) (D) and (A) Only (3)
A Fi F1ERA g FuiEy -
@)  RERE
(B)  ITgAmt S Ol e
(€ el

(D)  TEASITEg
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Choose the most appropriate answer from the options given below :

(1)  (B) and (C) Only (2)  (C) and (D) Only
(3) (D) and{A) Only (49 (A) and (B) Only

[Question ID = 1969][Question Description = Q63_Sindhi_SHAAN_NOV21]

2
3
4,

64)

1 [Option ID = 7873]
2 [Option ID = 7874]
3 [Option ID = 7875]
4 [Option ID = 7876]

ot @

3Ly ol (O
f}*ﬁ'}“"lj D)

Choose the most appropriate answer from the options given below :

(A) and (B) Only 2) (B) and (D) Only (1)
(D) and (A) Only (4) (B) and (C) Only (3)

e < o 31ee 3ffgH -

&) Tl S

(B) 25U "t

(© wgTEg

(D) Fwd A

Choose the most appropriate answer from the options given below :

(1)  (B) and (D) Only 2)  (A)and (B) Only

(3) (B) and (C) Only 4) (D) and (A) Only

[Question ID = 1970][Question Description = Q64_Sindhi_SHAAN_NOV21]

65)

1 [Option ID = 7877]

1
2. 2 [Option ID = 7878]
3.

4. 4 [Option ID = 7880]

3 [Option ID = 7879

— sl smys e pld LU Ol e 2 eyl
""‘“‘"’@1"5' o S pegsll @
wawL@jfaaLg.ﬂLq (B)

e o il g2 sl (©

I 3 pasls @)

ard = T =l & e e =9 2=t e ae-

(&) e ¥ sty Stognd gafa

(B) sl § % S e maf

© e 3 Rk mieef T

@ gl A o midagi war

Choose the most appropriate answer from the options given below :

(1) (A) and (D) Only 2) (A) and (C) Only
3) (A and (B) Only @)  (B)and (D) Only

[Question ID = 1971][Question Description = Q65_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7881]
2. 2 [Option ID = 7882]
3. 3 [Option ID = 7883]
4. 4 [Option ID = 7884]
a6} Match List T with List IT
List II PaeET

. =
bEx acla — A iTh '_u‘(:" ".;“\ fAY
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uy
(ILI)
aw

1--_';—_: L e
=9 LSJ 'LJJ_;-J
b3 g ok

b g5 Ea

@)

Choose the correct answer from the options given below :

(A)-ID), (B)-AID), (C)-IV). M- () (A)-(). (B)-ID), (C)-AII), (D)-AV) D
(A)-AV). (B)-d). (C)-dD. M)-O @  A-AID). B)-AV). (O-@). O)-0)  3)
el 1% wy et I 1 fem it
Tt 1 gt 11
&) =T O 7 AW e
(B) @ @g oA 9 @M gt T A
(C) iz o T @) 7 firem
D) 74 fsm gomy IV) T | 37
J= fau o et © O O IR R =R R
(1) (A)-D. B)-dD. (C)-11D). (D)-AV) (2) (&)-(AD), (B)-{11I), (C)-(1V). (D)-(D
(3)  @-dD, B)-AV). €)-O, D)-ID @  (@-1V), (B)-0D). (C)-10), (D)-D
[Question ID = 1972][Question Description = Q66_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7885]
2. 2 [Option ID = 7886]
3. 3 [Option ID = 7887]
4. 4 [Option ID = 7888]
67)
Matech List I with List 1I
List IT List I
Ol pded (@ ol Sy @
LSL, @ ol Yl S B
Joey s @D s Yl (©
A= Rl g e ! @ Slelis O
Choose the correct answer from the options given helow -
(A)-IV), (B)-D), (O)-(D), O®)-dIL) @)  A)-dD, B)-D, (C)-AV), D)-AIH (1)
(A)-(1D), (B)-aI), (C)-AV). D)D) 4) (A4)-D). (B)-1D). (C)-(1D, (D)-(IV) (3)
gt I = a9 9=t 11 =61 faema =hifag
T 1 g Il
(4) 3T, "4 =i D AT IEH
(B) & g deawh I o
((0) B 1B R dn =F i
(D) e srsamit IV) U 6 o v SR
fr9 fou o el ® © =@ I w1 w9a Fi
(1) (A)-AD), (B)-(D, (O)-AV), (D)-UD (2) (A)-AV). (B)-(I). (C)-I), (D)-(1I)
3 @-0O, ®-ad), €)-dn, »)-av) @  &-1D, B)-dD, (©)-IV), O)-O

[Question ID = 1973][Question Description = Q67_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7889]
2. 2 [Option ID = 7890]
3. 3 [Option ID = 7891]
4. 4 [Option ID = 7892]

68)

List II
Aly 2L e
SR

LodlS SIS
&wuua-p_g.jl.w

@
amn
L)
Iv

Match List I with Li
List I

Jsb
S
=i

st I1

(A4)
(B)
©
D)

Choose the correct answer from the options given below :

(A)-aD), B)-d1I), (C)-aV). D)-(0)
(A)-AV), (B)-(D), (C)-(I0), (D)-AI)

2)
@

(A)-@). (B)-dI). (C)-(I1), (D)-(IV)
&)-am). B)-Iv). (C)-@). M)-AD

(1
(3)
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Tt 1% @y = 1T 1 e it
Tl I
(A) rferet
B) w2l
(C© s
D) T
d= fou U famedl § ¥ wE I W =9 FifSu

1 A-d), B)-1). (O-dIL), (D)-AV)
3  @-dD. B)-av). (O)-D). D)-An

Tl 11
D  wF IRk
(I 0
(D) = e
(IV) @i St T

.

@  A-ID, (B)-dID), (C)-AV), D)D)
@  @-aV). B-O. (O-ID. (D)-A1D

[Question ID = 1974][Question Description = Q68_5indhi_SHAAN_NOV21]

1. 1 [Option ID = 7893]
2. 2 [Option ID = 7894]
3. 3 [Option ID = 7895]
4. 4 [Option ID = 7896]
69)
Match List I with List II
List II List I
W oI~ © e Jdl @
=, 6§ Jo @D =LJy ®
Sl am Se=dL ©
- i{: Ju @ Jsb b @
Choose the correct answer from the options given below :
(A)-(m), B)-A). (CO-0L). M)-AV) 2  A)-0), B)-O). (O)-dI), M)-AV) (1)
(A}-IID), B)-AV), (O-AD), )0 ¢ &)@, B)-dD, (O-dI), D)-IV) 3
Tt 1% Wy et I 1 fram i
T 1 et I
(A  F= gt @O i ol
(B) I ARH ) G 3 W
(C) T o ID) FeErst
(D) = it Iv) = A
e fou Te fmeal A ¥ WE S B 99 i
(1)  @-an, B)-M, (C)-AID). M)-AV) @)  A-1D, B)-A). (C)-AD. (D)-IV)
3 @O, B)-0), (O-0D, M-AV) @  A)-OD, B)-AV), (CO)-dD), (M)-0
[Question ID = 1975][Question Description = Q69_5Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7897]
2. 2 [Option ID = 7898]
3. 3 [Option ID = 7899]
4. 4 [Option ID = 7900]
40) Match List I with List IT
List II List I
S$» O ALS S0 s ke @
LN
Y 4
¢3s @ 3zl st s ®
LA
= . = -
;5"_9*5 1V) jh Sl T Koo (D)

!

..-ﬂ-"-ﬁ-.-}i,,.:h
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N = . s
" w1

Choose the correct answer from the options given below :

A)-d1D. B)-D. (©)-AD. O)-(1V)

A@)-ID. B)-0. (CO-av). O)-d1) @)
A)-IV), (B)-aIT), (O~«D. O)»-dD @

Tt I % wie =i 1T 1 faem il
Tt 1

(A) TS R, IR IR St 39-giedt

(B) Ty 3 G, BHe! S Iu-Td

(C) Tag = @ 4 aguang @i FH
i e O 1

D)

&g S T an Wi < su-giedl

Hrer fou o formeat & O Tt IE 1 =aq il

(L
(3)

A)-1b, B)-@. (C)-aD, D)-@V)
(A)-). B)-dD). (C)-(ID), (D)-(IV)

A)-1). B)-(D), (O)-(1I), D)-AV)
g 11
@O
m @
@n =5
vy fa=m
2  A-AD. B)-D). (C)-1V). (D)1
@  @-av). B)-1D. (O-@. D)-dDh

[Question ID = 1976][Question Description = Q70_Sindhi_SHAAN_NOV21]

(1
3)

1. 1 [Option ID = 7901]
2. 2 [Option ID = 7902]
3. 3 [Option ID = 7903]
4. 4 [Option ID = 7904]
™ Match List I with List IT
List I List I
FY) @ LS’;L.HJJ& &;ljl.'a (A)
Lk @ Slemn el ®
sl @ s ©
b3 Vs @) Ll a5 D)
Choose the correct answer from the options given below :
A)-ID, B)-dID. C)-AV). D)D) @2  @-D. B)-1D. (O-dID). O)-dV) (1)
A)-IV), (B)-@, (O-ID). O)-AD @  A-AD. B)-avV), O-O. O)-d)  3)
o=t 1 % @y gt 11 =0 frem hifw
= 1 Tt 11
(4)  AREvEE Farf (M  fag=n
(B) T g¥amfl ) @
(C)  Tifsg areH In g
(D)  TIET eI IV) FEmEaE
Ji= feuw Mo Terpet o T O wmE = =EA HiY
1 Q-0 ®-AD. O-dID. D)-dAV) 2y  &)-AD, (B)-ALD, (C)-AV), O)-D)
(3) A-AD. B)-AV). (O)-0. O)-AD @  A)-AV). B)-D. (C)-dD. M)-I1D
[Question ID = 1977][Question Description = Q71_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7905]
2. 2 [Option ID = 7906]
3. 3 [Option ID = 7907]
4, 4 [Option ID = 7908]
72 Match List T with List I1
List 11 List 1
Ll dedes  © Gl @
ool @ Hhaws B
S 30 3 @ S5 HS ©
SRl @ bsal fe @
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AQ)-D. (B)-3D, (O-dD), O)-AV)  (2) (QA)-IV). (B)-dID, (C)-1D), D)-D)
(A)-(I1D). (B)-IV), (C)-I). M-T) 4  (A)-I). B)-dD), (C)-dI). (D)-aV)
= I % a9 gt 11 = firem i
et 1 T 1T
(A) T YsEmi (D)  bad Aufi A
(B) T AE ) TR ER
© T g D =& wEd B
(D) " e IV) =R T 9R
4= fou mu frseal § 9 O S =99 Hig
(1) (A)-IV). (B)-(L1I). (C)-(ID). (I)-(D (2) (A)-(@. B)-IUD), (C)-A5). D)-AV)

(3)

Choose the correct answer from the options given below :

(A)-(0). (B)-(), (C)-(II), (D)-AV)

(4)

(A)-(IID), (B)-(AV), (C)-(D), (D)-(0)

[Question ID = 1978][Question Description = Q72_Sindhi_SHAAN_NOV21]

P

73)

. 1 [Optien ID = 7909]
2 [Option ID = 7910]
3 [Option ID = 7911]
. 4 [Option ID = 7912]

@
(3)

Match List I with List I1
List II List I
Ayl 2oy @ OssUT 0L @
130 @D ;e ds ®
ks o> b @D Osdsr 05l ©
o Ok Jhsiss> @ slshd @
Choose the correct answer from the options given helow :
(A)-@V). (B)-0), (O)-IID, D)-0) 2 A0, B)-0D), (O)-dI), M-AV) (D)
(A)-ID, (B)-D, (O-dID). M-AV) ¢ AL, B)-dD), (C)-0), M)-AV)  (3)
Tt 1% my = 11 = firem fifse
T 1 Tt 1T
(A) TP TR ') THHE HaH
(B) @ mR I e
(C)  awfig giferg (III) AREYEE HoRmit
D) A IV) FI3Ha =gamd
= fou T fapeat o @ TE s A v i
(1)  A-O. B-AD, (O-AID, O-AV) 2)  @-AV), (B-D. (CO)-dID), (D)-AL)
(3 A-dp, ®-Adn. (O-O. O)-avy @  A@-1), B)-D. (O)-UD. D)-IV)
[Question ID = 1979][Question Description = Q73_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7913]
2. 2 [Option ID = 7914]
3. 3 [Option ID = 7915]
4. 4 [Option ID = 7916]
) Match List I with List II
List II List I
g;i_g,\f’rifﬂﬁ =l @ O pdei &)
Slsie Jabiss S0 @ Sl G50 B
& ot ply @D olwle.  (©
Sla Ode @) NS o)
Choose the correct answer from the options given below :
A)-0, B)-0D, (CO)-AI). MH-@V)y (2  @-AIh, B)-@. (O)-aV), M-AD 1)
A)-dDn, B)-D), (C)-0I), M-IV) &  A)-AV), (B)-AD), (-0, M)-M  3)
Tt I % wy get 11 1 e it
T 1 Tt 1L
(A) e M 1. g figamh
(B)  TEaTar TaHl (I) =1, Aidicne Saar
(C) e ) W FeHemi
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D) FEAFR
= feu mu fowent § @ G S W A il

D @A-OD, B)-0). (C)-IV), (D)-(ID
3 (A)-AV), B)-(ID). (C)-(I1II), (D)D)

V) = A

@  @-0. B)-d), (C)-dD), D)-IV)
@  @-aD, B)-0). (O-dlD, O)-IV)

[Question ID = 1980][Question Description = Q74_5indhi_SHAAN_NOV21]

1
2
3
4

. 1 [Option ID = 7917]
. 2 [Dption ID = 7918]
. 3 [Option ID = 7919]
. 4 [Option ID = 7920]

75)

List IT
g2 O
f;-;-w iy
itlane, T

@

Match List I with List 11
List I

3 rh omgas (A

<8 J«b ®)

U (©)

.j':% L:ES—‘ L‘Jﬁh Q_JH (D)

Choose the correct answer from the options given below :

(A)-0V), (B)-(I), (C)-0), D))

A)-). (B)-1), (C)-I1). (D)-AV)

Tt 15 g w11 = T fifsg -
= 1

& Hfes v

® #@ar

© g

O AFETE

fr= fou T fapet @ v s = 9ga Hifay

1)  @-dDn. B)-@. (O)-Tv), M)-AD
3)  A-AD, B-D. (C)-AV), (D)-1D

(A)-1. B-O. O-aAV). -ah) @)
A)-aD, B)-A). (O)-avV). (D)-Al)  (3)

= 1O
@O =t
(I  =g™
@D =amE
av)y =gm

-

@  A-aV), B)-alI). (O)-0). @)-Ah
@)  (A-D. B-1D). (O-IID. D)-AV)

[Question ID = 1981][Question Description = Q75_5indhi_SHAAN_NOV21]

76)

v

3

R

1 [Option ID = 7921]
2 [Option ID = 7922]
3 [Option 1D = ¥923]
4 [Option 1D = 7924]
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bes B

<y = (©

slsy (D)

g (B

Choose the correct answer from the options given below :
BYODMMEYA) @ ABODODE O
DE)ABEC) @ ODOE®®® 3

W'ﬁarﬁwﬁWWﬁmﬁgﬁ.wwﬁmw_

&) e
B) T

(C) Fg=d

D) waEr

(E) Fgea

Choose the correct answer from the options given below :

1 @3 ©) D) E) @ ®ODEE®
3 (C)D)E) &) B 4 @DE GO

[Question ID = 1982][Question Description = Q76_Sindhi_SHAAN_NOV21]
. 1 [Option ID = 7925)
2 [Option ID = 7926)
. 3 [Option ID = 7927)
. 4 [Opticn ID = 7928]

T e

77) i
SLpht @

SNy ®

g;%fsj:.» (©

b

elee el @)

(3

Choose the correct answer from the options given below :

(B)CO)D)E)A) (@) A) B C)DE) @)
D) E) @) B G ¢ CDE)AB) D

qeag Fafdet s et foam wpaty = fuwfasr afzar -
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(A)  TEE© HEAt
(B)  Twied mEamit
(C) T HeAm

"y

(D) W 9==@mi

(E) o R
Choose the correct answer from the options given below -

1) AWB®EOCOE @ BOD)E &
3) (O D E G OG 4 D) E) Q) B Q)

[Question ID = 1983][Question Description = Q77_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7929]
2. 2 [Option ID = 7930]
3. 3 [Option ID = 7931]
4, 4 [Option ID = 7932]
78) _
Ve N Y UOU WV PR L;l’"_'—jf.d Sl a8l 5519l u.d.}l”:i ~in L
51 izl (gydie  (B)
SRS (©
Choose the correct answer from the options given below :
(D) (A) (B) (E) (C) (2) (B) (C) D) A) (E) (1)
OD@ABE @ ABOCOE O
HTfEa AFHIEH FE A Ht AfEFRE o o el
&) e fueeeh
B)  HF sAH=ei

(C) el T

(D) U gEaEmi

(E) = Tl
Choose the correct answer from the options given below :

1 @ (€)DD) K (E) @ @O®A) ®BE©C
(3 (A (B (D) (B (4)  (CYD) (A (BY(E)
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[Question ID = 1984][Question Description = Q78_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7933]
2. 2 [Option ID = 7934]
3. 3 [Option ID = 7935]
4. 4 [Option ID = 7936]

79)

20 shds 2 S L3l 55150 o
o Sk @

;Y u" f.“j_a S5l B)

S M be= Sl ©
gfﬁfr,ﬁ 7=l O

Sy Sl ®

Choose the correct answer from the options given below :

AdOODE @ ABEMDEC @
DO B E & BAOCE:O &

I = INER § un i @ fawteen st

(A) 2. T FEm g

(B) =1 TaW A A

(C)  =1. FreaweTal dagami
M) =1 T g

(E) 1. g S

Choose the correct answer from the options given below -

1 @G ®ED O 2 @ ®O©DE
3 (B)(A)(C)(E) D) @ D)) @A) B (E

[Question ID = 1985][Question Description = Q79_5Sindhi_SHAAN_NOV21]

. 1 [Option ID = 7937]
. 2 [Option ID = 7938]
. 3 [Option ID = 7939]
4 [Option 1D = 7940]

oL B

80)

el b 55131 2 Jle Gyl 5 L STL 6&56&

FElLes @

oS gy B

o s 251l (O)
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s¥ 155 o

Choose the correct answer from the options given helow :

MhBOD @ D) O®;® O

BAadKC @ ©CAadBD O

! figamiial = 97 I 9 98 1§ TR et Siedi-

A W W

®  fes gwE
(©  Thx w3 Fg
O T

Choose the correct answer from the options given below :

1 DOGB A @ @dBOoo

3 O@dD @ B@ODO

[Question ID = 1986][Question Description = Q80_Sindhi_SHAAN_NOV21]

bl B

1 [Option ID = 7941]
2 [Option ID = 7942]
3 [Option ID = 7943]
4 [Option ID = 7944]

81)

sl s 2 Pl gls 55 wls 2 U e gl T
sl @

Liag OU o 185G ®)

sx e ©

L 25 &3 O

OF= e o> B

Choose the correct answer from the options given below :

Q@B OCME @ BAOCDE QO
CAadGODE O EA@CBO 6

TifEE aedia F JEaty 3 s i an ot = et site -

{AY ke
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(B)  wEfterE aer @ FrEim

(©
(D) =2 wEd P
(E) =t 5o aia

Choose the correct answer from the options given below :

1 ® A EC) DO E @ @®ODE
3 EQ© G D) @ O©AaG O E

[Question ID = 1987][Question Description = Q81_5Sindhi_SHAAN_NOV21]

1
2
3
4

82)

. 1 [Option ID = 7945]
. 2 [Dption ID = 7946]
. 3 [Option ID = 7947]
. 4 [Option ID = 7948)

O3l

Ols 5

mﬁlﬁJ@gﬁ;lEl@@}&aﬁjjb LJ.J‘;}@MALQLQJ‘,M

(4)

(B)

©)

D)

(E)

Choose the correct answer from the options given below :

BODE® G A4) B) (C) D) (E)
(D) E) @B C) @) OO EW ®

o wifec < fo 2R S g S enaw d faafaa aifer-

(4) =W
(B) ww@H
(O T«
(D)
(E) TR

Choose the correct answer from the options given below :

(1) &) B (C) D) (E) @ B D)E @
@) () D) E) @A) @B 4 D) (E) @A) B )

(1)
(3)
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| [Question ID = 1988][Question Description = Q82_Sindhi_SHAAN_NOV21]

oL B

83)

BEC)DE A @) (A) B) (C) D) (E)
DE:AB®EC @ (©) @) (E) (&) ®B)

fog § F=h T3 F oN9R 9 U9 T Gl aoi S et e

(A) s T

(B)  TaW T

(C)  TEe=h =

(D) TS W

() e sow

Choose the correct answer from the options given below :

(1) ABEODOE 2 B EC)D)E W

3) (©) D) E) @A) B 4 @O®E: A B

. 1 [Option ID = 7949]
. 2 [Dption ID = 7950]
. 3 [Option ID = 7951]
4 [Option 1D = ¥952]

—5on U sheda s 18 G010 0,5 7l FH131 2 e S (S K

PURMREIE
S e
S s
a8 las
45 S

(A)

(B)

©

D)

(E)

Choose the correct answer from the options given below -

[Question ID = 1989][Question Description = Q83_Sindhi_SHAAN_NOV21]

1
2
3.
4

84)

. 1 [Option ID = 7953]
. 2 [Option ID = 7954]
3 [Option ID = 7955]
. 4 [Option ID = 7956

50U shedes 513) o s

SUS zlaies

-

RN S S

ﬁ-l.w.r ”:IJLi

= L'_:'"

(&)

B)

(&)

(D)

(1)
(3)
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SHLO5LE  ®

Choose the correct answer from the options given below :
@B O DE @ AOEMDHE) @
CAOBDE @ EYB OO 6

AU S S9N o faatden 3 -

&) T gEE
(B) =i foerin
(Cy freeg =
(D) Y W
(B  Tidas A

Choose the correct answer from the options given below :

1 @O B D) E @ A ®BE D) E
@ (BB OO @ (O @) > O E

[Question ID = 1990][Question Description = Q84_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7957]
2. 2 [Option ID = 7958]
3. 3 [Option ID = 7959]
4. 4 [Option ID = 7960]

85) o Y "
ol B Bl ke yt&'@ajiwuﬁl&ﬁgﬁ;&u

e e 1

WAPRQERS
eHs = ®
PP HbS ©
Gyl s (B e ©)

Choose the correct answer from the options given below :

B MEH @) (&) (B) (C) (D) D
M@ B G @ MDA ®B O

3. Mo Tty o frae O e’ 3 foae Teesid 3 e o et S sme-

&) Al S =y
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(B) wiS Ay
(C) g W1 ¥y

D) TR a9y

Choose the correct answer from the options given below :

1  @A@®;OD @ B ODO@)
3 O©ODWM® @ D& d©)

[Question ID = 1991][Question Description = Q85_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7961]
2. 2 [Option ID = 7962)
3. 3 [Option ID = 7963]
4. 4 [Opticn ID = 7964]

86) Given below are two statements : One iz labeled as Assertion A and the otheris
labeled as Reason R

.}.ﬁhj;f;_i#au_gjlj ELQJbﬁ.J&aL.; . Assertion (A)

e 9yls (gl rg..)&ﬂ.ﬁu.’:- al..w_g.‘a!.‘a_,.:_g.:-;_pﬁlzjahu : Reason (R)

In the light of the above Statements, choose the most appropriate answer from the
options given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A) (1)
Both (A) and (R) are correct but (R) is not the correct explanation of (A) (2)
(A) is correct but (R) is not correet {3)

(A) is not correct but (R) is correct (4)

Given below are two statements : One is labeled as Assertion A and the other is labeled as

Reason R
Assertion (4) W S5 FO9 Ffeigs] a) M wdre A T8 2|
Reason (R) : maﬁmﬁa@%@mmﬂﬁ?ﬁﬂﬁqﬁﬁﬁmaﬁrﬁl

In the light of the above Statements, choose the most appropriate answer from the options
given below ;

(1) Both (A) and (R) are correct and (R) is the correct explanation of {A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correet but (R) is correct

[Question ID = 1992][Question Description = Q86_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7965]
2. 2 [Option ID = 7966]
3. 3 [Option ID = 7967]
4, 4 [Option ID = 7968]

87) Given below are two statements : One is labeled as Assertion A and the other is

labeled as Reason R _
(D | =l T o2 5s €| JEere : Assertion (A)

(A B G S Sy s LU phaie . Reason (R)

In the light of the above Statements, choose the most appropriate answer from the
options given below : _

Both (A) and (R) are correct and (R) is the correct explanation of (A) (1)

Both (A) and (R) are correct but (R) is not the correct explanation of (A) 2)

(A) is correct but (R) is not correct (3)

(A) is not correct but (R) is correct (4}

Given below are two statements : One is labeled as Assertion A and the other is labeled as
Reason R

Assertion (A) : T AT FIl MEE I |
Reason (RB) @W@@W%ﬂﬂﬂ?ﬁﬁﬁmﬁqlﬁml
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In the light of the above Statements, choose the most appropriate answer from the options
given below -

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A4)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

[Question ID = 1993][Question Description = Q87_Sindhi_SHAAN_NOV21]

1. 1 [Option ID = 7969]
2. 2 [Option ID = 7970]
3. 3 [Option ID = 7971]
4. 4 [Option ID = 7972]
88) (Given below are two statements :
u’.c: Ls_vwlj LH.'L {_&;‘..L...u Ljalj_(A. Lﬂ."L_u..: fbl.: - Statement I
M LS )L e and gdan S8 il i1y . Statement IT

In the light of the above Statements, choose the most appropriate answer from the
options given below :
Both Statement I and Statement II are correct (1)

Both Statement I and Statement IT are incorrect (2)
Statement I is correct but Statement Il is incorrect (3)
Statement I is incorrect but Statement Il is correct 4)
Given below are two statements :
Statement I - . Frearene aEan @l g o -341%
Statement IT - . T wrEaret el e 9T = e |

In the light of the above Statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement IT are correet

(2) Both Statement I and Statement Il are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct

[Question ID = 1994][Question Description = Q88_5indhi_SHAAN_NOV21]
1 [Option ID = 7973]

2. 2 [Option ID = 7974]

3. 3 [Option ID = 7975]

4. 4 [Option ID = 7976]

89) Given below are two statements :
ﬁu".ﬂfL"*“ \FUMA{SML}MA\MIAJ-\&1:' - Statement [
@!wmf L‘“""&_ﬁ"'ui"“ -LJ_',..a)_"—ﬂ.‘b . Statement II

In the light of the above Statements, choose the most appropriate answer from the
options given below :
Both Statement I and Statement I are correct (1)

Both Statement I and Statement IT are incorrect (2)
Statement I is correct but Statement II is incorrect (3)

Statement I is incorrect but Statement II is correct (4)

Given below are two statements :

Statement I 37, Ao Siach et IgFF T gl 99 o |
Statement IT - 3. TR Saell dw S weE 9TR |

In the light of the above Statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement Il are incorrect

3) Statement I is correct but Statement II is incorrect
(4) Statement [ is incorrect but Statement II is correct

[Question ID = 1995][Question Description = Q89_5Sindhi_SHAAN_NOV21]
1 [Option ID = 7977]
2. 2 [Option ID = 7978]
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| 3. 3 [Option ID = 7979]
4. 4 [Option ID = 7980]

90) Given below are two statements :

. gad Oldadss éb"j’"" d}r L.SJ—’H r&:ﬂ.‘b . Statement I
-5 _5-‘_.9_&{}1_.9-’ Ol 3}‘}' Lg_;-w -lﬂ-"'d r,_s'{?b{?"’" d'}T LSJ}»J-..&'J - Statement IT

In the light of the above Statements. choose the correct answer from the options given below:

Both Statement I and Statement II are true (1)

Both Statement I and Statement II are false (2)

Statement I is true but Statement II is false (3)

Statement I is false but Statement II is true (4)

Given below are two statements :

Statement T - 1. Tidfere At A @)
Statement IT - S1. Widiee SAaar YR TS w1 AaneE a9t 8|

In the light of the above Statements, choose the correct answer from the options given below:
(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement IT are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement IT is true

[Question ID = 1996][Question Description = Q90_5Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7981]
2. 2 [Option ID = 7982]
3. 3 [Option ID = 7983]
4. 4 [Option ID = 7984)

Topic:- 101Sindhi_B

1) = E - = -
190 Slga 50 95 OU 911w o5 50

o e o5 o135 5 Al ) 5 p) S 0 1S9 3,
LD lomy ot JoF13 Salls . 1 sdns 1,5 Oy 2 588 ol Sy S
52 5w S 338 2 oo 2 O (g 90 8 5l e e 2L 535 S
Soex 29 SF (2b e debl Gr g Bole Gl w gl 220 S e
S oS 0RO (I3 (S w2 S HD e 2T 55 e
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[Question ID = 1997][Question Description = Q91_5Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 7985]
2. 2 [Option ID = 7986]
3. 3 [Option ID = 7987)
4. 4 [Option ID = 7988]

2)
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[Question ID = 1998][Question Description = Q92_Sindhi_SHAAN_NOV21]

1
2
3.
4

- 3)

. 1 [Option ID = 7989]
. 2 [Option ID = 7990]

3 [Option ID = 7991]

. 4 [Option ID = 7992]
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[Question ID = 1999][Question Description = Q93_5indhi_SHAAN_NOV21]

b

v

1
2
3.
4

4)

1 [Option ID = 7993]
2 [Option 1D = 7994]
3 [Option 1D = 7995]

. 4 [Option ID = 7996]
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[Question ID = 2000][Question Description = Q94_Sindhi_SHAAN_NOV21]

1.
i
3;
4,

3)

1 [Option ID = 7997]
2 [Option ID = 7998]
3 [Option 1D = 7999]
4 [Option 1D = 8000]
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[Question ID = 2001][Question Description = Q95_Sindhi_SHAAN_NOV21]

1
2
3.
4

1 [Option ID = 8001]

. 2 [Option ID = 8002]

3 [Option ID = 8003]

. 4 [Option ID = 8004]

Topic:- 1015indhi_C
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[Question ID = 2002][Question Description = Q96_Sindhi_SHAAN_NOV21]
1 [Option ID = 8005]

2. 2 [Option ID = 8006]

3. 3 [Option ID = 8007)

4. 4 [Option ID = 8008]
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[Question ID = 2003][Question Description = Q97_Sindhi_SHAAN_NOV21]

e it B

3)

1 [Option ID = 8009]
2 [Option ID = 8010]
3 [Option 1D = 8011]
4 [Option 1D = 8012]
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[Question ID = 2004][Question Description = Q98_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8013]
2. 2 [Option ID = 8014]
3. 3 [Option ID = 8015]
4. 4 [Opticn ID = 8016]
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[Question ID = 2005][Question Description = Q99_Sindhi_SHAAN_NOV21]

1
2
3.
4

3)

. 1 [Option ID = 8017]
. 2 [Option ID = 8018]
3 [Option ID = 8019]
. 4 [Option ID = 8020
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[Question ID = 2006][Question Description = Q100_Sindhi_SHAAN_NOV21]
1. 1 [Option ID = 8021]
2. 2 [Option ID = 8022]
3. 3 [Option ID = 8023]
4. 4 [Option ID = 8024]

Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together i1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ji2
Sales (SA) 12% 513
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 517
Management (MA) 21% 3:4
Production and Transport (PT) 19% A% a
Others (OT) 6% 3:68
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FEIRTIET dTieT=hl AL 1= ShINIT TS89 UF 164 g8 99 3 USPTR <h T9049E &91 H Rd o6 shisiel =il JIa9d
(%) o Qo gE9-ufEen e W g A 2wt @l % Fa wEew H e 80 9| 2|

aifer ° 13U 70 SRSl % STUT W 9¥T % I aie|

A = S 1 ERGR T
IR 57 & I o1 Frer
stca (%) fomn | gea-wifgen agu@ (37 )
T (7™ 3) 15% 3592
Tew (T 1) 12% 5:3
Fmtor 31t e (i ) 9% 5:4
TR (W 2TR) 18% 5:7
EEA (T U) 21% 3:4
Iearea iR ufas (4 2 19% 5:3
317 (31t &) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)

(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

qeft &=t it e g5 Srew I oftua gea 991 27 (S9med % 31 9] a)

(1)  6.35 @@

(3)  5.96 TG

(2) 4.69 9™

@) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NM0V_S51_SHAAN]

1. 1 [Option ID = 8025]
2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4, 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% 8.2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% G
Management (MA) 21% 3:4
Production and Transport (PT) 19% h:3
Others (OT) 6% 3:68

Frefafan oifee W fiem Hift fomd o & 3n 99 9 oem # fafiw omf 4 wwa & Fesa = wfoea
(%) o a1 gEu-afEen e ouw qmta T 2wl EEl % P wEwe B e 80 9™ 2|

ifereT § T8 7T STEST F STHR W 9T % Ia i)
UG % HEE 1 e

YR T FrHaA

o (%)

gE-AfEen A (3 )

15%

; Holiy'
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Hod |9y Y} 170 219
Fmtor 31t e (i o) 9% 5:4
TR (W 2TR) 18% 557
EEA (T U) 21% 314
Iearea 3R ufass (4 2) 19% BB
3= (a1 &) 6% 3:5
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM

sector?
(1) 330% (2) 318%
(3) 320% (4) 80%

wg § o ff R & ¥ WA nfeen wEee it PO gem W@ w &7 § NG g1 wEed 5 =6

fore wfawa 27
(1) 330%
(D 320%

(2) 318%
(4 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8029]
2. 2 [Option ID = 8030]
3. 3 [Option ID = 8031]
4. 4 [Option ID = 8032]

3) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% s B
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% Hal
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1a
Others (OT) 6% 3:68

Frefafan ofee W fiem Hift fomd o & 3n 94 9 toem # fofim om0 4 s & Fesa = wfoea
(%) o qu geu-afEen e oum qmta T 2wl EEl % P wEww B e 80 9| 2|

aifers § f3U 0 TRl & SR W WYT % I9T ST

A = AN 1 EGR T
TR H7 & R o1 Frer
stca (%) fom | gea-wfgen agu@ (g7 )
oo (T 3) 15% $:2
ow (Tg ) 12% 5:3
Fmtor 31t e (i ) 9% 5:4
e (W IR) 18% 57
YA (T U) 21% 3:4
Ieurea 3R ufasa (4 ) 19% 5:3
A (3 ) 6% 345
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of

workforce in PT sector?
(1) 82% (2) 87%
(3) 89% (4) 85%

TH T 3R UH U & § HEG Y Heed f Fa we 9 f 47 § wEW Seed i B ST H o

o e 27
(1) 82%
{(3) 239%

2) 87%
4) 8%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4. 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% o
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% Hal
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1a
Others (OT) 6% 335

Frefafan ofee W fiem Hift fomd o & 3n 9 9 oem # fofiw &mf 4 wwa & Fesa = wfoea
(%) T @ Tou-afEen Fwe oUW qua gl w3 F e weew 1 wem 80 W@ 2
Tt A T8 770 STST 3 STHR W U9 o Ia i)

A = S 1 EGR T
SRR 7 & R T Free
Tt (%) & | e-AfEen s (( 30 )
oo (T 3) 15% $:2
ow (Tg ) 12% 5:3
Fmtor 31t e (i ) 9% 5:4
e (W IR) 18% 57
YA (T U) 21% 3:4
Ieurea 3R ufasa (4 ) 19% 5:3
g (&) 6% 3:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce

in PT sector is :
(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T 3 TH T & § FRAA Afgell FESE i o auar o 91 f 47 °§ Fea aften srga @ @ w5

e o 27
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(1) 5.1 @

(3) 5.7 <A@

@) 7.5 @

4) 13.2€rg

[Question ID = 2010][Question Description = Q04_GP_20NM0V_S51_SHAAN]

1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrabution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% s B
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% Hal
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1
Others (OT) 6% 3:68

Frefafan ofee W fiem Hife fomd o & 3n 4 9 Goem % fofm &mf 4 wwa & Fesa = wfoea
(%) o Qo gE9-afEen e oUW g A 2wl @Al % Fa wEee H e 80 9| 2
Tt A T8 770 STST 3 STHR W 9T o Io% i)

A % s 1 &R feawor
SRR 7 & TG T FEeA
stca (%) fom | gea-wfgen agu@ (g7 )
oo (T 3) 15% $:2
ow (Tg ) 12% 5:3
Fomtor 3R orRawr (i ) 9% 5:4
e (W IR) 18% 57
YA (T U) 21% 3:4
Ieurea 3R ufasa (4 ) 19% 5:3
aa (a1t &) 6% 3:5
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What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT

sectors put together?
(1) 17 : 39 (2)16:37
(3)16: 35 (4)16: 39

ot w1 & ° SR wiEen FEad H FE SR § 3R v o1 F SE A HERa 569 wEs i fel Wl 6

ST o 27
(1) 17:39
(3) 16 : 35

(2) 16:37
(4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
| 3. 3 [Optien ID = 8043]
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| 4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

ALTE = TFm T § g IR S T goe i TTeA FE TR 6% SHatedd gl T Bl § 7
1 ek @) wEEY '

(3) HIMwX (4) @ e '

[Question ID = 2012][Question Description = Q06_GP_20M0V_S51_SHAAN]
1. 1

[Option ID = 8045]
r R

[Option ID = 8046]
3.3

[Option ID = 8047]
4, 4

[Option ID = B048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(€) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafataa 3 gfenfg st awaett 6it g2t 2 % sroamm gad fafie wial % meam 9 faf=a e
T 2| 3% I Sl STeER 1A B AnaT §) 3 A SN dl e SHeER S % IRl 2T B 7

(A)  FIcA-&ual (ame)

(B) e

(C) Frayo # ot

(D)  wgo

(E)  F8AtEan

4= Teu o oot O ¥ TEt I = =9a i
1 @@

2) (BN
(3) (D) R E)
@ (B D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_51_SHAAN]
1.1

[Option ID = 804%]
2. 2

[Option ID = 8050]
3.3
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[Option ID = 8051)

4, 4

[Option ID = 8052]

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List |

List Il

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(I} Using Swayam and Moocs

(B} Open and distance learning method (I} Programmed instructional packages
(C) Individualized method of teaching (lll} Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)~(I1), (C)~(Il1), (D)-(IV)
(2) (A)-(ll1}, (B)-(IV), (C)-(1), (D)-(II)
(3) (A)-(1V), (B)-(11), (C)-(N), (D)-(1)
(4) (A)-(1), (B)-(), (C)-(IV), (D)-(NI)

A1 % @ gf-11 & fras At g=hi-1 9 3= siftrm awns © faaon $i B § o€ €, o=k gt

11 & sifermg ffrt <t sumesfiera sq £ oo @ o 3

(A)
(B)
(©)
)

9 fov o faweat § O e SO% w1 99 Hie

1
2)
(3)
(4

it

Bragor it fafern
-G i Fafsharcaen R
U i gt wiftem fafty
foreqor =t e fafy

foreror it ot By

(A)-(D, (B)-(1D), (C)-(1ID), ()-dV)
(A)-(1L), B)-(IV), (C)-(I), (D)-(1I)
(A)-AV), (B)-(III). (O)-AD, (D)-(D)
(A)-aD). B)-(D). (C)-AV), (D)-(I1I)

T 1T

UHTEE Al SgH =i dhAlD
D) Taae AR gy % 9=
Iy TR eseR Y
(I1D) Wiggwr Frfeumenh ami
(IV) wice=l % wy-wy e w3

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements
Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and

abilities.

prepp
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Statement (1) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement (I} and Statement (ll} are correct

(2) Both Statement (I) and 5tatement (1) are incorrect
(3) Statement (1) is correct but Statement (ll) is incorrect
(4) Statement (1) is incorrect but Statement (1l) is correct

FY9 (1) :

F97 (1) :

syerfes ot it oftao = gt % §m ot saf gaar $i saft dig =

HATHT A ™ g AAR AT S 2

TEGFE Afeea T0an 3R 94 =Afraca wam sl & e == 3 W

A FH F TAeE ¥ IR e 9 3
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IR K F AT H, i Zu e fawedt 0 O qen 3ug ST 9 9gd it

1) w5 @) R (1) 3w 2
@) =W @ IR I T T
(3) =y (D) E 2, ©fF o (1D o 2

(4) F¥A (1) Ted %, = YT (IT) "&t =

[Question ID = 2015][Question Description = Q09_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

%) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes,
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R} is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

fio g o9 g g F : ©F iR (Assertion A) % &9 7 faflga @ @1 gm0 3w F (Reason R)

HET Y .

ATHFHST (A) : foreqor o smgfi o7 a3 ®1 & s wEma gonet w1 FiEa e stitem wtwm
i THAR AT 2

w1 (R) ; et wwreh frerr wera woneft = siftem aftufeat § gar % @ ggw fem e
eiitd

IYTH FYA % oS §, 79 fa T fepeui § @ Rt W w9 il

(1) (&) R (R) I T & 3R (R), (A) F 7 =e &)

@ (AR R) I F &, AR ®), (A) B wE =men 71 2
@) (AT 2, A ®) e B

(4) (A ¥uF 2, I (R) 9 B

[Question ID = 2016][Question Description = Q10_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8061]
2. 2 [Optien ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fora e % Ty ¥ wigarfi-uides = Denfsa e S 27

(1)  IordrE g (2) et Oy
(3)  THITE WY (4) TETIETE WY

[Question ID = 2017][Question Description = Q11_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068)

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?
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(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

uitsreu afemr et afofe o 9t ofigf® = oufe % =v 4 2t 3, o 6 F=fafes § 8 & &t

] T GUHR &7

(A)  Taaomers &t

(By v fafy
(C) = fafy
(D) st Bl

(E) ==masmeqs oy

F=1 fou o fowedt § @ Of 3w w1 9 i

1 @B
@ B RO©
3 (O WD)
@ (D) (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List |l provides techniques used.
List 1  List Il Steps of research  Techniques used

(A) Problem formulation () Tabular and graphical representation of data

(B} Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll} Raising pivotal question in a field of enquiry
(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1}, (B)-(1V), (C)-(N), (D)-(1)

(2) (A)-(1), (B)-(I1}, (C)-(INN), (D)-(IV)

(3) (A)-(I1), (B)-(lM), (C)-(1), (D)-(IV)

(4) (A)-(ll1}, (B)-(D), (C)-(I1), (D)}-(IV)

A1 % e ge=ht-11 1 e fifse) gf-1 8 Wy % = 187 8, 90 gfi-11 9 39 g0 Ug% a1

GCin! Feft-I1
I b =R 1 CI LR B | I o (G E e B
(&) e ey @) oATRg! 1 wrftes T arhia wegdie
(B) fterewr fofo D) U FeTX YT Tl A A
(C) wia==m wfsem =1 =2m (III) < 5 &3 ¥ e 9v 33
(D) g fEeor (IV) i < = = st Yow wyria e

f fou o fawesl § 9 USSR 1 99 Hie

prepp
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L) LEAY-LEL), \D)=1ILV ], (L)L), (L)1)

2 (A)-D. B)-AD, (C)-AID, (D)-AV)
(3)  (A)-dD. B)-1I), (C)-D), (D)-AV)
(¢  (A-AID. B)-@). (O)-AD. (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article,

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

= 5w i E

w97 (D) : Th TU-TEY SR WE-TT § Ee o @eHT % taed iR Weht % sftw R st 7
B 2l

w97 (ID) : Ty waet A ok sw s wft mdl F foe sfa 2

ITUH HA * aTe 1, = B T feredl 4 ° @t s 9 i

(1) = (D) sk D g e 3
2 =y O R AD T WA 2

3 =y (D) " 2, A e (1D S6ea 2

@) A (D) 9 B, s wmeE () 99 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8077]
2. 2 [Optien ID = 8078]
3. 3 [Optien ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion {A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R} : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {(A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

F= @t = fiw mm € v sfywus (ﬁssertianA)%Eﬁﬁﬁﬂ%ﬁ%ﬁaﬁmwmeasonm
+ &g H |

#AfEa (A) et miy oferea (Hy) =1 Fassofa aferegr (Ho) R wgmar @ wdaor fen s
EHE

FRT (R) : v aferew T (Hy) = aehanfa i srfigfe d@id €0 @ 78 6t s o=t 21

I A % D A, A U T e § U w9y IWH IR 1 WA I
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Q) (A IR (R) AT G 2 @R R). (&) F W ==E B

(2) (&) SR R) I TG 3, AR (R), (A) Fi @ @ 1@ 2
() (AT, dfF R) TE T 2

@) (A Td 2, 9fm ®) =@ R

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3, 3 [Option ID = 8083)
4, 4 [Option ID = 8084]

11) Every vear Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

wyredta 9 ieg Tow T ugiE ve feam Featafaa 4 | fre o e 22

(1) 30 sFad (2) 30%
(3) 15 IFH (4) 15 7FF

[Question ID = 2022][Question Description = Q16_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4, 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THMERTR 1 T-ToE (M) "Let truth prevail” 87

Q)  fi e (2) T A 3
@ fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8089]
2, 2 [Option ID = 8050]
3, 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) {(A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 3 Fua G T B uF AfEUA (Assertion A) % w9 # faflad 2 af ggu 3w% FR (Reason R)
FEIY

a1fieE (A) sAftrs waw (Sigwre) suaa wie gafweie i disiE g 2, weg =3 Higm
£ e T SOF U9 U2 6 2

w0 (R) FERE TARY (Siswne) Hitear W dsei 2 i # TR We 2

S B F e 5, e G v fawedt 0 @ @ S SR 9 il

1) (A i R) A g 2 =R (R). (A F wd =En 3

@) (AR ®R) I T 3, AR R), (A) F @ smmem Tl 2
(3) (N TR, @l (R) w78 2

@) (AT TE 2, S (R) WE B
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[Question ID = 2024][Question Description = Q18_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4, 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3} (C) and (D) only

(4) (A) and (D) only

FIEER % SU ¥ 57 MUl Uiel Aehies FRE TR ¥ TH RO e 9 e wfed gev

(A) wumE fagm fafimt $i aman H @9 B9 % U
(B) 3= w04 St Hiva & Wy afaam 33 % o)
(C)  smfeR i fan gomel A TR w9 & fow

(D) =2 4R SN % e FF S w1 woe wE Hifh B 2

H for T forRedi d W WU SUEW 3T 1 9ET iR

(1) e (A) 3R (B)
(2) (B S (C)
(3) % (C) 3 (D)
(@)  FE (A) IR (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098)
3, 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), {(C) and (D) only

i &t 78 g 2 @ e Y wEEmie et A e i

&) TR
(B) HedHdl
€ vEmE

T Tt
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WA

(E) &IH = A g

= fou 7 fwewl § @ OF W F1 999 S

(1) == (A), (B) 2 (O)
2  FFA®). (©) (D)
® %3 (C). (D) 3R (E)
4 e (A), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8101)
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs, 5,000/- (4) Rs, 6,000/-

T 99 % AR U TRER F S99 WiEe w99 999 3 WEA § 4000 TR, 3HF T 4 Wl § 4500 T
R Ifim s WEFT 9 5000 T 97| AfE 3@ T % INE P gEa 5000 T ff @7 3w gREr A eiga

i wta e i ?
(1) 3000/~ =m @ 4000/- T
(3  5000/- T (4) 6000/- T0@

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75% (4) 56.75

70 ® 90 = o9 = g¥it T el 1 A SaE -

(1) 785 2) 98.25
(3)  55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Optien ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T ARG 33 WX g9 S99 W L1 ofex 39 % oA grm F s @ aIfia wRar 21 afoma § @
=AY

(1) 25% (2) 50%
(3) T0% (4) 80%
[Question ID = 2029][Question Description = Q23_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
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| 3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7ty Frelt 9t #1 @A 9o9 3u A gem W 95% R @ @y =R afawam #7037

1) 4.26% 2 5.26%
3 5% @) 7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8117]
2. 2 [Optien ID = 8118]
3. 3 [Option ID = 8119
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs, 1,600/- (2) Rs, 2,000/-

(3) Rs. 2,080/- (4)Rs. 1,560/-

It g =afn frdt aeg = 25% sfawa 6 o F 38 1200/~ 7 F d=ar 2 Q@ 30% T A1Y FAH 5
fore =@ =w =g = fHw Fima W s= =i @

(1)  1600/- (2) 2000/- ¥
3  2080/- ¥& @ 1560/ =@

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8121]

2 [Option ID = 8122)
. 3 [Option ID = 8123]

4 [Option ID = 8124]

R

21) Which one of the following sources of knowledge {pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana
(3) Upamana (4) Unuplabdhi

TE YR e | e w Fefataa § % fE-wm g9 ome atg 6 Rl Te g J maEa ®
IR 27

(1) vy (2) 21gHA

(3 saEE (4) sIueIsy

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8125]

2 [Option ID = 8126
. 3 [Option ID = 8127)

4 [Option ID = 8128)

a2

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration {(upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B}, (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I ToRATRE °h ITTER T < A H =0T o1 Gl 369 o 8 7

(&)  fammod fova @ samor it gaEa /[ wEisTar & B (3TE)

Fg = A% 'EI'.-!TI.'!:LT. =rr —rOrT f::\rerl"l.
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!\H) L L Tl ) ) e i Liad B | k'ﬂ_:.:.j'j'

©)  siferon % fag & =0 F gt (Free)
(D)  rfiEmom = =% (gfo)

(E) Tifea Frem = S & (SEmeTr)

e fau e faereat 9 9 gt IO w1 =99 T

1) (D), (E), (A), (C), (B)

(2) (D), (C). (B). (A), (E)

(3 (D), (B). (E). (A). (O)

@ (D), (E), (&), (B), (O)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8129]
2 [Option ID = 8130

]
3 [Option ID = 8131]
. 4 [Option ID = 8132]

oW

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A) Nayaya

(B)  Vaisesikas
(C)  Buddhists
(D) Mimamsa

(E)  Carvaka/Lokayata

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2)  (B). (C) and (E) only

(3) (B) and (E) only

4 (A (D) and (E) only

T YRAHE e 1 FA-|] WG W5g YA it STAH F IO A @ 7

@& =

(B Sifis

© g

D) i

(E) =i /R

el Tau 7y foepedl § o wEl I w1 wmE Hif

(1) = (B) At (C)
(2) TS (B). (C) S (E)
(3)  #Fa« (B) I (E)

(4  FHa=r (A (D) 3 (B
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[Question ID = 2034][Question Description = Q28_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4, 4 [Option ID = 8136]

24) Given below are two statements

prepp
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Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence,
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (1) and Statement (ll) are true
(2) Both Statement (1) and Statement (ll) are false
(3) Statement (1} is true but Statement (ll) is false
(4) Statement (1} is false but Statement (I} is true

= 3 e g

% (D) ; T Wt dherE % ATER AT R alfhe %9 % ara ot giar 2|

w9 (1) : s T F5 Tel sawdt & % 25 579 I9R & ST9AW o =1EY "ok aegd: I8
sl 2 2 29 F 1w e g

IUUF FUT o ST |, A BT T e § ¥ wE) SO o 99 it

1) 7 (O) AR 1) I FeF 3
@ w2 (D) R 1) T 3 B
(3  ww Q) g 2, dFr Fe (D) o9 2

(4) =9 (I) 319cA 3, A wgd (1) 9ea 2|

[Question ID = 2035][Question Description = Q29_GP_20NM0V_S51_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason  (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

g1 % @wr geh-11 = firam ifs
eI eI
Teh % =] N AR,
(A) freron =i wETe % w9 O gfe @ wet gt B 2w o A 2 R @
T
(o o D) et v o 2

(C) fafza Frew =1 e & 11D safaT yerdl w 3t 2
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(D) wnfaa i e sTiiumen #1 w9 (IV) i a=f gt 3
F=r o e fereat ° @ g T = Bk

1) @&-@, B)-dAID, (C)-AV), (D)-(ID)
2 @-av). \B)-d1, (©)-d3). (D)-aD)
3  @-dID, B)-aAV). (O-(I). (D)-AD
@)  (A-dD, B)-O, (O-d1D. D)-IV)

[Question 1D = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]
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26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than

previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

wF 1S A F A T 2 A U B Hise % Aueig = i Ben § e o fga 6 mue e 2 an
it et iaeia Aigel i el IR | BT S FoF | w9 3
T\ A % for o St &1 u=im e e 27

Q) e (d@) W @ =g
(38) wite Wz 8 g (4) S A B ST

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148)

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.
Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 2t = faw T 2 ;v ofymym {Assertion A) % &9 § fafigg 2 9 By 36H F9 (Reason R)
%ﬁ =1 ﬁ 2

3TTHF (A) : TG AT TASH Pl | U TR foen sTavas ¥4 9 weuifua g anau)
T (R) : AT 3 FEA WY AR 9 e § wWang A% R e |

IUUT FI & ST |, A 90 T fawmen § ¥ T8 ST F 99 it

1) (A) IR R) I T 2 IR R), (A) F T = B
@ (A s (R) 2 T B, @ (R), (A) F v = 76 2
3 (A) T 2, | (R) %9cd 2|

(4) (A) 319 2, AfF (R) T 2

[Question ID = 2038][Question Description = Q32_GP_20N0OV_51_SHAAN]
1. 1 [Optien ID = 8149]
2. 2 [Optien ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes
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(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D}

(4) (D), (C), (A), (B)

TaU 99 § 99U B Gual % w9 § Fofafias ©RS Guaietl % Oa 59 i geeE i)

(A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

(D) T Bytes
= feu o ferreat 4 9 @ s = == S

1 DA . B
2 @, M0 ©O). B
3 @ 6d.0©.D0O
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth,

Statement (1) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (1) and Statement (ll) are true

(2) Both Statement (1) and Statement {ll) are false

(3) Statement (1) is true but Statement (ll} is false

(4) Statement (1} is false but Statement (ll} is true

o % ey 1 fous sz 3 ang-wr terst aFl £, i gt e fag e F

w2 (D) : TE-F1E I I sy W w9 Bl B
o (I1) ; S-S % Wieue U sy i o FE wften dim a A TeT A9 1 wewar B

IO FHYF * o® H, T8 B e e # 9 g so w999 wifag

1) = (I) ol @D A wea B

(2) = (1) o D 2 o3 B

(3) = (D) A &, I wY (D) 9 2

(4) =9 () oA 2, A 9 (1) 93 2)

[Question ID = 2040][Question Description = Q34_GP_20NOV_51_SHAAN]



www.prepp.in

1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4, 4 [Option ID = 8160

30) Match List | with List 1l :

g=it-1 = s gfl-11 = faee hifsm)
-1 =11
(e arRTiier wreg) CEIER)
(4) OCR @ <fFa = wafofga swaEs = @A =9 %
for v g ?)
(B) OMR A wz-fpedm wenet ¥ o ¥em w9 % fom
T il 2
(C) Email A11) ST FegTHeH
(D) Instant Messaging AV) GH=IeTH Eﬁ%‘ﬁ%‘ﬁq
et f3u e forredt 3 @ Gdt s w1 T R
(1) (A)-AD). (B)-(I), (C)-IV), (D)-(1II)
(2) (A)-AD), (B)-D). (C)-(I1D). (D)-(IV)
(3) (A)-(D)., (B)-(II), (C)-(11I). (D)-(IV)
(4) (A)-T), (B)-(ID), (C)-AV), (D)-(I1T)
Match List I with List I1:
List I List II
(Computer Terms) (Purpose)
(A) OCR (I)  Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions
(C) Email (II) Asvnchronous Communication
(D) Instant Messaging (IV) Synchronous Commumnication

Choose the correct answer from the option given below :
1)  @)-adD, B)3-@). (O)-AV). O)-A1I)
(2) (A)-AD, (B)-@). (C)-(11L}, (D)-(1V)
3  @A-O, (B)-3D, (O)-(IID), (D)-(IV)
@ @)@, (B)-dD). (O)-AV). D)-AII)

[Question ID = 2041][Question Description = Q35_GP_20N0OV_S1_SHAAN]
1. 1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd @ o SiF-ar v A = w0 BE G gmd 20

(1) W IEATEES Q) Taoree weivss
(3) A SEAHERS @ HieE

| [Question ID = 2042][Question Description = Q36_GP_20NOV_S$1_SHAAN]

prepp

Your Personal Exams Guide



www.prepp.in

. 1 [Opticn ID = 8165]

2 [Option ID = 8166]
3 [Option ID = 8167]
. 4 [Option ID = 8168]

oW

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frefaflaa # | FF-w S aa g o w8 e

(1)  waim =t (2) "= Fe
(3)  @erEn (4) g

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frfafaa & 8 Fi-=ft aepies o9 3T Fedl 3 o7 3w st | o Taid 8 ¢

1 = (@) vaegEt e
(3)  wEMHl (4 TP

[Question ID = 2044][Question Description = Q38_GP_20M0V_S1_SHAAN]
. 1 [Option ID = 8173]
2 [Option ID = 8174]
. 3 [Option ID = 8175]
4 [Option ID = 8176]

e it R

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on 5olar-Hydro Energy

(2) Mational Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

AN WERR ] THieAviE H1F 21 % @2 § NMSHE S=fafiga § & fruem agmew 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalavan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20M0V_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4, 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B}, (C) and (D) only

(2} {A), (B) and (C) only

(3} (B) and (D) only

(4) (B) and (C) only

frrferfas # o T gt = afige T A3 % TR ST ety e W9 B 7
(A) IS SRATTATEE

£

—r.w TR X s

P b
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I\J._.I'J' TN MRl ™ lkj.' J.‘Iﬂ;ﬂ_h}'
(C) s
(D) Hig=

(E) FiT5cH IFERS

= fau T fFwew § 9 O S w1 == hiR

(1) %= (B). (C) 3k (D)

(2)  FFE (A), (B) @R (C)

(3)  aw (B) 3 (D)

(4  F=Fa (B) 3 (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8181]

. 2 [Option ID = 8182]

1
2

3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]
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36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to

frame and prescribe a course in Environment Education?
(1) UGC ; : (2) NCTE
(3) NCERT ; ; (4) AICTE

o= o % dayd o, AEEE sEan e | e e o uh giegsE dar g Rt e o feg

Tr=fafas 4 @ Fra o ferm /o =t i fear an?

OV 2 wdH
(3 wHEaImA (4) uImEHAg

[Question ID = 2047][Question Description = Q41_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List I, List | names various organizations while List Il gives their location :

List1 ; ; :; ;Listll

(A) NAAC ; ; () Delhi

(B) NIEDA ; ; (II) Bengaluru
(C) NDRI ; ; (1) Lucknow
(D) CDRI ; : (I¥) Karnal

A1 % wy gofl-10 = frem hiferg
lt-1 Teft-11
A wgTd O &
B wWaEidc ID) g
(€) T H AR 3 (1) wEs
(D) i 2 A o (IV) =

9 for 7u faeredl & @ wd ST W 9 A

1) (A-dD, B)-IID), (C)-I). D)-AV)
@)  A-AD. B)-O). (G-AV). (D)-(11D)
3  (A-AID, (B)-aD). (CO)-D). D)-AV)
(4  (A-AV). (B)-dID, (O-AD. (D)-D)

[Question ID = 2048][Question Description = Q42_GP_20N0OV_51_SHAAN]
| 1. 1 [Option ID = 8189]
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| 2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A}, (C), (D) only

73 forem ity (v § 1)-2020 % @ § & v Fit w9 FE T TE@E 2| 39 FeEm % ffEa mwe w22

(A) TrENFER § oTEYE R TEER 3 e FEm dar =)
(B)  iftpm = gugH &g MRl < WA % Hey § el % g dEE-TEH 3g U6 9 gaAn S|
(©) =l il areTt =l seEr A H ugEan &g agrt fegt w5 anfie we|

(D) Tawem tReEl, B o oA e ¥ a § Afvas A w wEn a3y sntHEme
Sferstg =1 N @ e S FTEH AT

(E)  Toran dienfiehl o sitfgs ofit geurra @gaisn =0 o s

= 2w mu feredt ¥ O OEl I W@ = il

1) A (A). D), (B)
2 %99 Q). B). (E)
3  Fa< (B), (D). (B)
(&) A (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A}, (B), (E) only

(2) (A}, (C), (D) only

(3) (B}, (C), (D) only

(4) (C), (D), (E) only

Frafafea 9 @ F9-9 3-sifrm 52 87

@& T
B) WE
(€) T
D) e

(F) H3h
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-

= fau o foamreut § O wE 3% ® W= FilE

(1) == (A (B). (B)
(2) a4 Q). (©). (D)
(3) %3 (B). (C). (D)
@ == (C), (D). (B)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]
1 [Option ID = 8197]
2 [Option ID = 8198]
3 [Option ID = 8199]
4 [Option ID = 8200]

oW R

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-47
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

G T % TSE 39 g A 2015 H uaa fawE wed-4 @ getug Frefafea 3 @ Sh-w @ smEEn

T U1 ¢
(1) a9 TR R agEw (2) TorETTER e
(3) TSl A (4) == EER TS STEEET

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8201]
. 2 [Option ID = 8202)
. 3 [Option ID = 8203]
4 [Option 1D = 8204]

R

Topic:- General Paper_5et1_C

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 illion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TS I WA ¢ a9 35 18 76U T 9% 9 I 2

El;\l';'qufl:'.l'gl’ 1n1ﬂmrnﬂ-mlﬂﬂ—.ret—rﬂw&mﬁf%mﬁﬁrﬂ#%ﬁ".....;l—_...._. 'I'IEI-I-\T
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LR B A B B LR N R B 4L - TEEY -n TIFF W ﬂ‘\ Kl. b B e B e e B e e e R u = 1"']"'-1.\3';‘5. TET O TRENY TRFD LA TN

a:=ﬁ§=ﬂ?ﬁ lﬁﬁaﬁfﬁaﬂﬁq%ﬁﬂqﬁmﬁs@sm%maﬁmmﬁﬁ%ﬂﬁmﬁh
Herdia # e TR 2| A9 T @ BT A 10 TR AT A S @i g & AR off weear # el w6
TP WS Wi I3 98 W 2| 96 A8 TEMH W GFC W wel oIUw ¥, T8 U SEE
amtfaw-a1ils @z ot 21 3@ = waw =it e waite ) e famed amfs anfie e
TeHifas TarE ugd T 8 e am an w1l e wH o 21 4 ug o g snfe afemfi
(feperl) 9 @ € f o ol Soem wem W T R, W @ 7R i e 9 o wean d T @
e wedl qegi B fl 9@ W 2 oW ¥ dfvaw gediE ot faem e e ol 3 @ s
G % Sged B Froas o 1 31w oA el sret el il am e @ £1 o= 4 war fe afifefoen
%o AEFE 2eh] wiew it fel g gidiw el % sed ot wng-ae @il ue 31 g s aned W
a9 2 5 400 fafemm (40 =) @ it TeiE s vt &) faza d% 3 R & BT e
g-ta (ifeE) # 110 ffema smieh sen F wh snof) gom sfimme 2 5 500 fafmm (50 #U%)
AT AT g sl WU e § g 9d g )

The major crisis faced by the world since World War |l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

facftar forgerrg = wig faza =1 as@ sz de oe &9 & S 27

(1) it (2) YR
(3) wER 4) @

[Question ID = 2052][Question Description = Q46_GP_20N0OV_51_SHAAN]

1
2
3.
4

2)

1 [Option ID = 8205]
. 2 [Option ID = 8206]
3 [Option ID = 8207]
. 4 [Option ID = 8208)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost., The World
Bank projects a US 3110 billion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T ] TEGHEF 53 T $9E a1 3T T 99 # IW 3

BT I Hifag-19 HEE THR W99 1 @Y ARas W gwe iR fgdfa fwaag & o 6 v
a2 T 31 oo ad % sifas & 5 ofémn § o 39va % WY TE aERE TR T BITAR U
HEId ® ¥l IR 3| o9 T g@E B W 10 TING @ A 1 el g & R gff wear B gl w6
TAAT WA oy 33T 9% T@l 2| Wg 4F WeWn @R e U wEl s 2, A% Uk g
amsE-ois wwme f 21 W W TaT =it e IR 2| 5o e oenfaw onidm ofm
THifo® TaE 134 T 8 o @ wng aF TR FTA w919 §) @3 ug # amfes e afamfa
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The

(Feperdl) | g o St Ut Uk gepdicht =ed WgF 9 @ E, 919 € A% (99 TR WS oF Eam U 9 ©
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pandemic has left which of the following area unaffected?

(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication
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[Question ID = 2053][Question Description = Q47_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8209]
2. 2 [Option ID = 8210]
3. 3 [Option ID = 8211]
4, 4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8213]
2. 2 [Option ID = 8214]
3. 3 [Option ID = 8215]
4. 4 [Opticn ID = 8216]

4 Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World

Bank projects a US 3110 billion dechine in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDF  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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1)
(3)

UNDP (2) UNICEF
UN-GHRP (4) UNBSC

[Question 1D = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8217]
2. 2 [Option ID = 8218]
3. 3 [Option ID = 8219]
4. 4 [Option ID = 8220]

3)

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost, The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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. 2 [Option ID = 8222]
. 3 [Option ID = 8223]
4 [Option 1D = 8224]
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